1.

100]8}] 39] HjZ=9] ATtS § @ty &

ArE ghotet,

[33 g So ¢

a7t gael) (ox W se 2

27} o}uFJ

72 A% 5o Yaop



O A= {x|xe 1HT 22 25} = (0)

@ A={x|x= AT} =1(1,2,3--)

® {2,4,6,8, 10---} = {x | x= 10 °]5}2] &}
@ (1,2,3,---,100} = {x | x= 100 ©]5}] A5+

® {11, 13,15, 17, 19} = {x | x= 10 Et} 2 &)



@ {0}

}
11 < x < 1291 A5}

2
e

3xx=0% A4

1_—'_.
g

® {xlx
@ {x|x
® {xlx

1
-

}

x <191 A4S

-
-



@ {1}eA @ {1lcA

D gcA

® {1,1}cA

@ (1,2) €A



AT A = {xxE 249 F5) D 1, Bc A & WESH= B otd
R n2w? (FH 270)

@ B = {xxE 89 o}

@ B = {alxk 10 T]Tt2] Z2)

® B= {xxi 129 5}

@ B = {x|x= 30 "Tte] 62] wis}

® B = {alxi= 189] Ok}

al

>,\l

o



A A=1(1, 2 3 & W, = H7] T &4 &2 A4S 25 =gt
[
H7
@ {0}cA © ocA
©0¢A ® A¢{2 3, 1}
@ {1}cA ® {0, 1}¢ A




of ghe?

n

2~
A

of =7t 3270 o, =

3

® 8 ® 9 @ 10 ® 11

D7



8. [3JcXc(l, 3,5 7)< WSSt Je x o fSE stoiet

B e 7R



b

S

oA 1310 F Hol=

St
=]

{L&Zlmﬂi%ﬂ

@@A:

9.

__o.b

)

Gl

@ 874 ® 1270 @ 167} ® 247§

@D 47}



ZoA 1,285 %

o A7t 8 A W, A= n of 727

SH
=1

,n} o] F2 A

A=1{12,---

ol
v

3

A

@ 2 3 3 @ 4 ® 5

D1



11. e FoeAnge s

)

o] ohyl A9

@ {2, 4, 6, 8, 10}

@ {10, 8, 6, 4, 2}

@ {ax 1080} ZHe A5)

@ {xlx= 10 o]5Fo] A4}

® {xxE 11ETE 2F2 29] v






P~ o~ o~ o~ o~

~— — —

@ AUB ® A°NA

® ANnB°

3 ANRB



® 12



B)
XC
B)C
}
‘I _~
B
}
"] .
X 7 O =

7h



16.
ol
n(AUB) =
ke

Y h=E
-

10, n(ANB) =8¢ T, n
Feholat

T ¥ A B ot AxBE AxB={(a, blacA, be B} &1L

(A) x n(B) ©] 99| H}5:]



0]

Eo



. ANB={3,5}

L. A-B=1{1,9)

C. (AUB) =1{6,7}

® (1,3} @ {1,3,5) ® {1,3,5,7}

@ {1,3,5,6) ® {1,3,4,5,8)



olJ
w
ol
ol

® AUB=A

%)

® A-B

A

@ (AUB)-B

® ANB =9

® B°UA =B



20.

HAAA™Y U = {a,b,c,d,e, f} O] F&
1

{a,b},B-A={e},A°N B ={c,d} &

D {b} @ fe}
@ {c,d) ® {c,d,e)



21.

AAAST U = {xx= 10 1]
(2,4,8}, B = {4,8,9} o] ths}o]

ot

-

(A

UB) -

@ {4} @ (8} 3 {4,8)



22,

1009 SR oF, 0] MR

2ASRYE, o7 o}

S S 7%, 58 olah shifol 50, of7e} 578 s
AOTSIE SHo] 2390l 9ITh F e FOrhE S 48 Fefelel

S ER E:



® Arg = A€

= BAA

@ AAB

@ AAU=U

B AANAC = @

— AAB¢

@ AAB



A, B ol ti5l4d n(A - B) = 27, n(AU B) = 48, n(A) = 35

N B) 4+ n(B) 9] 357

® 21 ® 27 @ 29 ® 35

Q]
=



MO
A}Q’] = }"O]'o]—b. '6_‘]'-
oP/KH O 36 EﬂO]r/} _'_ J‘Z—O]-

A%‘ﬂﬂ_lﬂL%GH}ig

Oe6e" @79 310



